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Errata in Blecker-Setterfield (2019) 
 
 
Page xxvii, lower-case Greek alpha (α) is also used for speeds of adjustment in Chapter 6. 
 
3DJH�����ILUVW�OLQH�RI�ODVW�SDUDJUDSK��LW�VKRXOG�VD\�³UHSUHVHQWHG�E\�HTXDWLRQ������ƍ��´ 
 
Page 38, last line of text, it should say “since 01NY L Y N a= = ����´ 
 
Page 94, 3 lines above section 2.8, it should say, “by switching to renewable HQHUJ\�VRXUFHV���´�

(such as solar and wind power). 
 
Page 97, first two lines below Figure 2.13, it should say, “This system describes a closed orbit 
DURXQG�WKH�HTXLOLEULXP�SRLQW����´���delete ³D�µOLPLW�F\FOH¶�RU´��� 

For a Goodwin cycle modeled as a limit cycle, see Foley, Michl, and Tavani (2019), Fig-
ure 6.8, p. 124. The only difference between their model and the one shown in Blecker-
Setterfield (aside from notation and a few minor details) is that Foley et al. have a differ-
ence equations model in discrete time with lags while Blecker and Setterfield have a dif-
ferential equations model in continuous time. 

 
The next 3 items relate to missing “ /a1´�WHUPV�LQ�VRPH�PDWKHPDWLFDO�H[SUHVVLRQV� 
 

Page 184, 4 lines above equation (4.36), it should say, “because if g2 > sw /a1 then the 
PRGHO�FDQ�RQO\�EH�VWDEOH�LI����´��WKH�UHVW�RI�WKH�VHQWHQFH�LV�FRUUHFW�. 
 
3DJH������QRWH�����VKRXOG�UHDG�DV�IROORZV��³Here, the stability condition only tells us that 
sr í�sw í g1 > [g2 í��sw /a1)](a1/π), and since g2 could be either greater or less than sw /a1, it 
LV�SRVVLEOH�WKDW����´��WKH�UHVW�RI�WKH�VHQWHQFH�LV�correct). 
 
3DJH������QRWH�����VKRXOG�UHDG�DV�IROORZV��³Also, the higher is sw, the more likely it is 
that sw /a1 > g2��LQ�ZKLFK�FDVH���´���WKH�UHVW�RI�WKH�VHQWHQFH�LV�FRUUHFW�� 
 

Page 214, Figure 5.1, panels (a) and (c), the vertical intercepts for the P̂  lines should be .fwθ−  
 
Page 217, equation (5.10) should be 
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 θ  mulWLSO\LQJ����í�β) in the numerator. Also, 3–4 lines below 
this, it should say “whether an increase in q causes lower or higher equilibrium inflation 
depends on the sign of [(1 − β)θ + γφ].´ And, 3 lines further down, it should say, 
“requires β < 1 + (γφ/θ��´ 
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Page 229, 2nd to last line, below equation (5.19), θ needs to be inserted in the definition of 1ω  as 
IROORZV�� 1 1 1 1(1 ) qω ϕλ α θη= − − − . 

 
Page 285, 4 lines after the derivative, it should say equation (3.31) instead of (3.23). 
 
Page 296, just above equation (6.27), it should say “replacement of equatioQ�������´�




